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Instructions for the Candidates

1.
2.

Write your Roll Number in the space provided on the top of this page.

This paper consists of fifty (50) multiple choice type questions. All questions are compulsory.
Each item has upto four alternative responses marked (A), (B), (C) and (D). The answer should
be a capital letter for the selected option. The answer letter ‘A’ should entirely be contained within

the corresponding square.

Correct method A Wrong Method 3 or m

Your responses to the items for this paper are to be indicated on the ICR Answer Sheet under

paper II only

Read instructions given inside carefully. .
One sheet is attached at the end of the booklet for rough work.
You should return the test booklet to the invigilator at the end of paper and should not carry

any paper with you outside the examination hall.
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' Note :—This paper contains fifty (50) multlple ch01ce questlons, each carrying two
' (2) marks. Attempt all questlons
"8 - U WA (40) tgRseu ussdl 3. u&s ERR Q (R) w8
olfl % useistl Gu avil. _
1. Which of the following statemeht is not true according, to Rousseau ?
(A) Boys and girls should have similar education. ;
(B) Society exerts negative influence on the education of children.
(C) Values arise from chldlrens 1nteract10n with environment.
D) Education should not be humed
AL vt AAunidl sy [aem AR el
@A) Bl @A GlseR Wi Qe qaag AsA.
B) cunsi-it QA Y Wy sicis neud Qoll 53 .
(€) uula@ WAL ouasiql widAasl el Getd B
@) Ra9 Gaad 4 2uug ASA, | |
2. Philosophy of education necessarily includes. 3
A) Classiﬁckatkion of gbals and aims of education. A
(B) Formulation of educational policies.
(C) Determination of all curricular inputs.
43)) Emphésis on moral values.
Qe Baysdl s§ suodd uRudud wud B -
) Raadi Ayl w1 asdld wsdlsa,
® Raa-l Qdzid a-. |
(C) oUASHAL 68l o Widid [ale.
@) «lis Yl 4 oUR.
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- (C) AHRUL-G3A 13 vy
(D) avellxvid Ra
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“Existence precedes essence” means :

(A) Man’s life begins before birth.
(B) Man has no existence, but only essence.
(C) Man’s existence has no meamng
(D) Man is born first and creates h1s meamng later on.
‘R Arag youdl 8. -l ol el oy ? |
A) W @adt ¥+ uddl A3 WL §.
B) g Ul 4, W wea .
(C) Wil R sal el ).

@) *gtd ual o B A uedl Widrw vl udA 53 B,
Which school of philosophy favours core-curriculum ?
(A) Idealism 4 :

(B) Realism

(C) Naturalism
(D) Existentialism ’
Baysl-l s Rarw eléau uoqmsuv[l ctz%'at 5387
@) nedae -
(B) ARdAUE
(€) nglaaue

(D) Rdcaqie
Which of the following concept is not related with pragmatlsm ?
(A) Growth " ' : ‘ oo

(B) Experiential learning -

X

(C) Learning as problem-solving -

(D) Education of feelings i :
DA-nill 589 Aseyurl AasizAlE auﬂ zmmd -12{1 1
A) Qs

(B) ugeas »eqyn




—

4 Loglcal empiricism ‘is : .
' (A) A non-metaphysical phllosophy :

(B) A non-ethical theory

(C) A non-analytical discipline -
(D) A non-experimental view of life
S viqetaaie g © ?

@A) Bit-acalnizliy Baysl

@B) [Bi-sua ey Rgld

© [Bi-Q@saveuces Renauvy -
D) Padsl Br-naibis gResia

Who is associated with the kindergarten pattern of education.?

(A) Rousseau ‘ : (B) Pestalozzi :
(C) Froebel @O) Childs
Rzl Brsoudq de wd sia Asoudg 7
(a) 3l B) WAl
(©) $ia - (D) AUHESY,
The concept of supramental is introduced by :

(A) Shri Aurobindo (B) Freud
(C) Jung (D) Patanjali
wRRA Aseudl 519 9 530 ? |
@ 30 »[de | (B) $I5S

© % (D) wdxla

Basic Education gives the highest priority to :
(A) Learning of mother-tongﬁe

(B) Learning through craft

(C) Learning for democratic citizenship

(D) Learning to’ live a simple life

oRuig]l [Rae dedy wad Wl 2l © ?
(A) QPN AU

B) Gellol gl e

(©) disudly R s W2 vy

D) wWedlyel ad Wdd, vieun
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10.  Which of the followmg beliefs is not held by Marxism ?
- (A) Revolution is necessary for qualitative transformation of soclety
(B) A classless society is the best form of society.
(C) . Production oriented education is- good education.
(D) Economics should not have a mgmﬁcant place in curnculum - y
wsale QA-unidl 5§ Hirddl qladl Al ? |
(A) AWUAAL RIS i@ W2 sl v B,
B wl-Rd e A Wwurd Guy a3y 8.
(©) Geuten 3wl Rawm A wg Raw S,
D) AW VCUASHAL YAS [ UG L ASA.
11. Buddhlstlc Philosophy does not believe in :
(A) Momentariness '
(B) Becoming world
(C) Existence of Soul
(D) The Law of Karma
ollg Baysl il 4l wAdl ?
(A) aseidtdle
@) ulRad+ wug o
(©) iy »Rd
®) s+ Reia |
12.  According to Samkhya the normal cause of phenomenal world is :
' (A)  Purusha '
(B) Prakriti
(C). Panchmahabhutas
D) All of the above .
Alvy ANdAR wlaeulus °&°lcl';l, ALY s129 g é 7
@) 3™
®) ugla
(C) dausioLd
(D) Gu-L ol o
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13. Avidya in Vedanta means :
-(A)- The ultimate ignorance
(B) The illusion about the world
(C) Maya operating in an individual’s mind
(D) Forgetting of Sat, Chitta and Anand
dgeirddl wQ@aAl v Wl § ?
(A) 4 A
B) 0l QAL ey
(©) ABdrit wani sidalla
@) Ad R 24 2u-ie-l [Q3yla |
14. .The policy of equalization of educational opportumtles between various social
classes aims at equahzmg their : o ‘
(A) Entry to schools - (B Einancial status .
© Achievements | "(D) . Duration of schooling.
et gel wHl¥s ol a2 QaRs asil Wl mé-{l flla au-{l AL
daladld ag AN § ?
(A) Wwo-ud - (B wbls s.zfmh
© R ® MRdl Wal
15. Sociological thinkers equate education with : R
" (A) Schooling
(B) Teaching and learping
(C) Social life through co-cm'x,-icular activities
(D) Development of personaliﬁy by means of social life
yurwely Rdsi RQaad wdl vt 2 & ?
(A) o8l |
(B) VBUYUA WA YA
(€) uscuRs gl gl wlss wa
D) WS @ad gl Alda Qs
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16. Socialization is :

(A) A process through which an individual adapts to his social environment.

(B) A process of acculturation.

(C) None of the above.

(D) Both of the above.

AP 224 :

A) Adl uEu B gl AlBd widisu APy yula wl u@,{m a1 s}
®) dgdlsaa-dl ulzu.

(€©) Gud s wa «dl.

(D) Gl oiq.

17.  Social mobility means :

(A) Movement of an individual from one social 'claés to another classi

(B) Upward movement of the entire society. : '

(C) Movement from rural area to urban area.

D) 'Movemeiit towards a classless society.

SaoulFs aladladl e |

A) ABdad 2s wul¥s abiiefl oot wulys adl as %g

B) A1 ux-l Qedofa. -

© el ud QR dg oqg.

@) R 20F d2s %, -
18.  Socialization is a process that :

(A) Continues throughout the life of an individual.

(B) Continues throughout the schooling of a child.

(C) Takes place only in formal social groups. '
D) Takes place in childhood.
WUDHRRA s Al uBy & ¥
(A) A3l AN @art MU adl Q8.
(B) GlAsl MadR (At wddl 28
(©) &5 AARS WS oaui sy o B,
(D) stedicRAML ASY HA B,
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19. Political socialization means :
(A) Citizenship education.
(B) Active participation in elections.
(C) Mastering the sociology of political science.
(D) Training the political leaders.
AFSU WDV AN2Q, ¢
A) R sa wed (.
@) Yl uFy Aseulidl.
(©) R Qsuirel xeraAdl Ay,
@) RS Al adx.
20. Which of the following statements is not true ?
(A) Education is a pre-requisite of economic _deve}opmeht;
(B) Educational system provides labour force for the économy.
(C) Education helps in human resource develo_pment. -
(D) Higher education is the most signiﬁcant factor for economic development.
AAnifl s Qe Wy o0 ?
@) »ulls Qs we Qe Sy
@) das ual veda W2 Auea Y3 ws é
© Rae HAd dwa- Qs vee s 8. |
@) 2ulls Qs W2 G Qg Al ay yas WRaa 8.
21, Endogenous social change -could be caused by : |
(A) Invasion |
(B) Planning
(C) Colonization
D) Culture contact
sigell Geotadl urlys wRadrd si@ 54 &S W 7
(A) 25U
(B) U
(©) drar{lsaa .
(D) Aiglas AuS S

Edu.—II | 9 | P.T.O.




22. Education -
(A) forms a continuum _
(B) is a single commodity R |
(C) is a homogeneous service
(D) none of the above
Raw -
(A) AUldcdr, Pm[@t- 28
(B) Bs AUA AR B
(C) s ANIY Adl &
(D) Guy A5 ya «dl |
23. Which of the following is the most mﬂuent1a1 constramt on modermzatlon
of Indian Society ? ‘
(A) Wide-spread illiteracy.
3B) Multiplicity of religions.
1. (C) Large amount of tribal population.
~ (D) A powerful heritage of culture.
| iRl AL ugAlsaui su) maig el G uouqauua @ ?
B (A) R-cnd Mraq. ‘ | n
} - @) widl-l agadal, | R |
* (©) Bl wur-ll o Wi qxdl. SRR -
@) Agla-dl uenamoll ai. N 1
; : 24.  Social change in India is constrained due to : }
a (A) Religious diversity
- (B) . Linguistic plurality-
(C) Rigidities of caste-structures
(D) Multiplicity of ethnic groups
ol AHFs WRaddd sy wRun waagy B ?
@A) wblls dfwy
B) cwruslu opgaulzal
© aula-i suaeu-dl osd
D) ailus zug olLgey
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25.

26.

Match ‘A’ with ‘B’ and find out the correctly matched series :

A | B
(O) Democracy : (S) Comimon rites
® Stratiﬁcation M Equal rights
(Q Religion ‘ (U) Equal prestige
(R) Culture | (V)v Common béliefs‘
4 0—S  P—V Q-T. BR-U"
B) O—T P—U QS R—V
(© 0—U P—S Q—T R—V
® O0—S  P-—T QU R—V
‘W’ A ‘o [Qeuad Ash wA wel A A A=l sald) ¢
ow * o o
(0) alsudl | © Adwn QR
P) a5 | (M) AN 8581
Q a4 | ) A At
R) Al - (V) A, Hirddlil
A) 0—8 P—V Q—T R—U
B) O—T P~U- QS RV
(©0 0—U . P-—S QT R—V
®) 0—S P-T QU RV

“A person feels good when he knows he is accepted by others.” This is an

example of :

(A) The need for belqngingness (B) Self-actualization needs

(©) Esteem needs D Safety needs

o} A3 A 3 ofloail Al flsiz 52 B cu AR wWR wdl 8.7

e GelsRn ¢ 7

A) Ax-ueurl s>uawsdl (B) RA-utalcsiAl vdsusdl
(€) A=Al Gasusdl (D) vendll suagusdl

Edu._II | 11 P.T.O.



27.

28.

29.

(A) High intelligence
(B) Exceptional academic performance
(C) Creativity

' D) Al of the above

wReaell ouasui il 31;;& Sy 8 :
@A) G ol

B) 2xqae3y daRs RE

(©) uzlladt

(D) GYIL «ai o

Interference .theory implies :

(A) Positive transfer of learning
(B) Negative transfer of learning
(C) Both of the above

(D) 'None of the above

diu Rigid 4 yud @ :

(A) VYA ASIALAHS ASHY

(B) U~ SIS ASUQ

(C) Gu+u 6ir

D) Guanidl 25 ua adl

[7N) Sensory impairment

(B) Mental retardation

- (C) .Communication disorder

(D) Learning disability

s vl ay Skl gt A sid sal sual < gldl dgeuldd?

@) B well
B WS weslaug]

(O MUl Yakell

(D) Y~ BiEHAL

Edu—II | 12

A gifted child possesses the following quahty :

. The 1nab1_11ty to function normally through one or more of the senses signifies :



30.

31.

32.

Acceleration implies : o ‘
(A) The advanced intellectual process through which we understand meanings.

(B) The process of immediate adjustment to internal/external conditions that
affect intelligence. o .

(C) The ability to use higher order intellectual skills.

(D) The advancement of a gifted student to a hlgher grade level
ndlse g yad 8.7

@A) Mo olfzs NBU Fe gl AN ud Qmwaﬁ eﬂzl

@) ofgq 212 sl 2dRs cuw WRRuM WA diesilas u:;,&art aaairfl

alzul.
© G Al olllzs Sladl udiyarll ald.
@) xRenmel Reneld As G Qi@ Gu ysal d.

The theory that through perception people can put things together, which
results in learning and problem solvmg is called : '

(A) Insight learmng (B) Remforcement theory
(C) Field theory - ) (D) - Connectionism

HuallsvR gt 2ildd AUlY 52 O i A AU dAl AHRU G n&eﬂ
-1l [&am& POTRE TR z»uumcum -"ou& ¢ 7 -

(A) UAYD e ®) g,gél,&w Rugict
© &2 Rugia = (@) ASAAUE

When a person is equally attracted towards two goals when only one can
be reached, the confhct that arises is :

(A) Approach-avoidance 3 . (B) - Avoidance-avoidance

©) Approach-approach (D) Conflict-compromise

U A6 ABd 6 Wi A wusdls Ay guadl ¢l 2 dnid 218 o U
2 2 Ad ¢in, dl Pl qdr Al usR sdl & ?

(A) [ -[Qatet (B)«@amﬂ-laomq ,.

© wBema-AR (@) delwuad

Edu.—II 13 | P.T.O.



33.

34.

35.

The process through which we acquire emotions and temperament associated

- with own feeling ‘state is called :.
- (A) Psycho-motor learning

(B) Holistic learning

(C) Effective learning

D) Affective learning ' '
iRl cualRala A qsiEd u&ou u& wuélat-?t U % u[}maﬁ [Fd 5212»{
¢l AR s AR i WS ?

(A) HWRs vy

(B) Al ey
(C) VRALSIYS WY~
(D) UALHS UL

~ Hierarchical learning 51gn1ﬁes :

(A) A chain of recognition of and satlsfactlon with our own behaviour.

B) Somethmg in the env1ronment that is designed to represent the real
thmgs ‘

(C) The ability to move towards goals is small steps.

(D) The arrangement of acquired reasons from 31mp1e to complex.

ARy ey g YAl § ?

@) e ¥ adnsll dlgla 2t EETRAEST acwv{l LRI

B) wula@ui zé@ 53853 % Wl argalill 9 sdL M2 zzwl@, 8.

(C) el AL gl Au das gl abdq.

Oy Ul AgA A5 i m@uv[l w1 sl AL,

An effective class-room teacher 1s the one who :

(A) has a mastery over his- subject.

(B) maintains discipline in the class.

(C) possesses good communicatipn skills.
(D) knows his students well.

wA5IRS W-Bas A sdaur ?

A) 37 didi-t Qyaul Ryaa e,

@) ¥ a4l Rid «adl a3 8.

(©) °x A wud ABd 4ud 9.

D) % d-ll [dale{[u“ﬁ Wzl 1A AHas }.

Edu.—II 14



36.

37.

38.

39.

Acc0rd1ng to  Field theory a person’s behavmur depends on contmuous
interaction between :

(A) Heredity and learning.

(B) Heredity and acquired abilities.

(C) The person and his life-needs.

(D) The person and his environment. Co

AA-Rigld 2quR Al adq wHll mckmgg{ umz[%zu Y uqem 8 ?
(A) ARAL A wUYA,

B) AR A WL 53¢l uBail.

(C) Al3d i1 dA-l an-2iasdizil.

@) ABd A Ag walaza,

Which method of learmng is advocated by connectlomsm ‘7

'(A) Learning by insight . (B) Trial and error
(C) Heuristic learning - D) Learmng by domg
AsAUE $§ vy uglad undd 53 2

(A) AldYD GIRL AUt B) Ul A o
(© wuasll sy (D) BBuL gL veuq

A researcher wants to study effectiveness of three methods of teaching, for
this, most appropriate method of research is : ' ‘

(A) Survey ‘ - (B) . Historical

(C) Experimental (D) None of these ’

dad dllvgaid s Uglil Hu2 512 5clirll oA 53 B, 2 2 Alefl
Yoy, Hallar ua[a

@A) udaw - ® ARl
() wilus | | ©@) A AL A3y, Al
The obJectlve of socmmetry 1s the discovery of :

(A) Social distance - (B) Group cohes1veness :
(C) Intergctlon patterh PR (D) Al} the three-
WHUPssARQAL 3 § W & ?

@A) WHBss 2id R (B) %% Al

©) 2idlRs dls | D) U Ay

Edu.—II . 15 . PTO.



4.

41.

42.

When population is homogeneous, the best method-of. sampling is :
(A) Random | , .

(B) Purposive |

(C) Cluster

(D) Incidential . :

yfasa yuio ezs,m R Reai uaaaﬂ-ﬂ G qa[& é

(A) Uigs

®) dgyel

(©) U

D) 2usRaus

Which statement is incorrect ? .
(A) Dichotomus vériableé are discontinuous

(B) Dlscontmuous vanable$ are dichotomus

~ (C) Discontinuous variables can be chchotormzed

(D) Continuous variables can be dichotomized
s Qe vig & 7

@) Burdl vyl Aydd ¢ln V.

(B) vRdd el Rund sin 9.

(© dd ¥l RBarldl s3I wsa .

(D) Add Adl Rarld 53 asu B,

. “Mean achievement of students studied through Lecture method will
_ differ from that of the students studied through PLM.” Type of hypothesis

will be : | |
(A)" Directional ' (B) Non-directional
(©) Null ‘ o (D). None of the three

“apaid YRl g1 Beu s Rendlll 2 R, 1R veius
gl AU Sl [aatdlbu-(l darini 'gél 8. L Gyl USIR

@) Buyas 8 ®) Bt Rayas 8

O Rusellu g © 1o A4 Ay adl
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43.

44.

45.

46.

Which of the following is not-a method for estimating reliability ?

(A) KR-20 - (B)  Test-retest

(C) Split-half _ (D) Factor analysis

A A4 56 ugl Rran-dudl neufd sra S Al 7

A) KR-20 | ®) s0A-yt:s:0d

© wé-fe (D) AU YAS5Q |

In order to analyse data through chi- square, the measurement of vanable
- should be : '

(A) Interval scale - (B)  Ordinal scale

(C) Nominal scale . , | B (D) Ratio-scale

si6-a0l gl ‘u@.cﬂ@ sseL s W Addl Wyl ugly élcﬂ AS :

A) 2id s ‘ (B) $4is S

© ¥aw »is ) ﬂli’lm% St

When both the vanables are contmuous and out of which one variable is

d1chotomous, to find cotrelation between them, we use :
(A) Bi-serial ' (B) Tetrachoric

(C) Product moment ‘ - (D) Rank difference ‘
AU A A Add 11 2 A ULAL A e Bl ¢iy el dndl A

o UeAelY drar W2 Guaiai dard) gl :

@A) ks » - @®) ugsat[%as
© uRew Jusi2 (D) $Mis dslad
L Af the value of Kurtosis is 0. 263 what would be the nature of distribution ?
(A) _Platy Kurtic (B) Lepto Kurtic
(C) Meso Kurtic (D) None of the three
o sgedly Hed 0.263 €id, dl A Qd@A4L usR syl o ?
@) e sgedl v (B) §2 $5edl
© W4 sged (D) @ o U D dl
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47.

48.

49.

50.

Mean achievement of 10 students is 50. If five is added to each score, what
would be resulting mean ?

(A 10 I B) 250

©) 45 o @ 55
e Rl # Rl 50 . A £35 Wtisnl wia GRRami 2ud dl

ilan A Jedl 24 ?

(A) 10 B) 250
(C) 45 _ - D). 55

Which one is the correct formula for computmg standard error of multlple :

correlation ?

1 - R? 1-R?
@ JNTm : ® N-m
 1+R? | N 'l \1+R2 |
© JN+m | D N Tm |
opgudly usAsiarl UHRASE: Rl Wi sy ol WY B ?
. 1-R* 1-R?
@A) TN+m SRR - B NTm
1+R2 ‘ A 1+ R?
© wim ~ D N-m

Relationship between Mean, Median and Mode is determined by :
(A) Mode = 3 Median — 2 Mean (B) Mode = 3 Median + 2 Mean
(C) Mode = 2 Median ~ 3 Mean (D) Mode = 2 Median + 3 Mean

s, HeRY WA ogdas q2Asl ey sulaad Yo :

(A) Glgds = 3 HERA — 2 HEUS  (B) Olgds = 3 HeRY + 2 WS
(C) Ggds = 2 HBRA — 3 HAUS (D) Glgels = 2 WY + 3 WA

In which research statistical hypothesis is not used ?

(A) Experimental (B) Ex-Post-Facto
(C) Qualitative (D) Descriptive
syl AWanni viswely, Beseurit avaudl el ?

@A) wuibis (B) Blsu-wiRe-F52l
(C) AR D) arlicis

- Edu—II 18
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